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Планиметрия	
		Равнобедренный	треугольник	на	готовых	чертежах	

Равнобедренный	треугольник		
№1	

	
																																														7	
	
														
						
											
	
	
	
	

																							8																																													9		
	

Дано:	87 = 79,	
∠879 = 92°.	

Найдите	∠897.	
	

Ответ:		

№2	
	
																																																	7	
	
														
						
											
	
	
	
	

																															8																																					9		
	

Дано:	87 = 79,	
∠789 = 46°.	

Найдите	∠879.	
	

Ответ:		

№3	
	
																																																	7	
	
														
						
											
	
	
	
	

																																	8																																		9		
	

Дано:	87 = 79,	
∠879	на	36°	больше	∠789.	

Найдите	углы	D879.	
	

Ответ:		
№4	

	
																																															7	
	
						
																										
											
																														8																																				9		
	

Дано:	87 = 79,	
∠789 = 23°.	

Найдите	внешний	угол	
	при	вершине	7.	

	
Ответ:		

№5	
	
																																												7		

																									 	
																								8																																									9	
	

Дано:	87 = 79,	
∠789 = 29°.	

Найдите	внешний	угол	
	при	вершине	7.	

	
Ответ:		

№6	
	
																																																		7	
	
						
	
	
	
	

																										
																							8									D																																	E								9		
	

Дано:	87 = 79, 8D = E9,	
∠D7E = 42°.	

Найдите	∠7E9.	
	
	

Ответ:		

№7	
	
																																																		7	
	
						
	
	
	
	

																										
																										8													D																E											9		
	

Дано:	7D = 7E, 8D = E9,	
∠879 = 122°.	
Найдите	∠789.	

	
	

Ответ:		

№8	
	
																																																		7	
	
						
	
	
	
	

																										
																										8																D											E													9		
	

Дано:	7D = 7E = 	8D = E9,	
∠D7E = 32°.	

Найдите	∠789.	
	
	

Ответ:		

№9	
	
																																																		7	
	
						
	
	
	
	

																										
																										8																D											E													9		
	

Дано:	7D = 7E = 	8D = E9,	
∠789 = 28°.	

Найдите	∠D7E.	
	
	

Ответ:		
№10	

	
																															H																																	7	
						
	
	

																																														D 	
	

																										
																				8																																																		9		
	

Дано:	8D = D9,	7D = HD,	
∠D89 = 31°.	

Найдите	∠H7D.	
	

Ответ:		

№11	
																																																	
																																																	7		
						
																										
											
																														8																												9		
	

Дано:	87 = 89,	
∠789 = 34°.	

Найдите	сумму	внешних	углов	
	при	вершинах	7	и	9.	

	
Ответ:		

№12	
	
																																																		7	
	
						
	
	
	
	

																										
																										8																							D																				9		
	

Дано:	87 = 79,	D	-	середина	89,	
∠789 = 29°.	

Найдите	∠87D.	
	

Ответ:		
№13	

	
																																																		7	
	
						
	
	
	
	

																										
																																					8												D													9		
	

	
Дано:	87 = 79,	7D	-	медиана,	∠87D = 48°.	

Найдите	сумму	внешних	углов	
	при	вершинах	8	и	9.	

	
Ответ:		

№14	
	
																					H																																										7	
						

																																											D 																													
	

																										
																															8																												9		
	
	

Дано:	8D = D9,	7D = HD,	
∠D89	на	15°	меньше	∠8D9.	

Найдите	∠7HD.	
	

Ответ:		

№15	
	
																																																		7	
	
						
	
	
	
	

																																																				H	
																																													8				D				9		
	
																																			J	

Дано:	8D = D9,	7D ⊥ 89,		H8 = HJ;	
∠87D = 17°.	

Найдите	углы	∆8JH.	
	

Ответ:		


